ANSWERS (

) P27 b
Pach‘an = --L Frac}:‘m = -—’—
2 x50 * x25
= _5_0_ = _22
lo 100
= 50% = 5%
d
o " QT
717 11 N1 /4 71 ]
Fr Ci:f = 3‘. . 'h = 3
a on 8 %Z E‘OC o Ti—
- : Fug
" S E
“Ioo = _2__§_ p
= 28Y loo
= QSZ
2) Q) 13+7 = R0
b) Fmd‘r‘m s =
J 20 g
= 35
oo
Yo gils = 35%
3) Fachnm = }% Xlli
]
= 52 = S 2
100
6/3 score = SZOK



=I1SY

¢) Green

n
Q)
[7,]

100

35%

5). ’ﬁ:/-al cars =

28
42
56
92

+22 2

200

a) For D iz_

200 .

loo

UL

8/ue 4

h
N
Y’

100
0%

Yellow &

20 x5
30
[folo]

30%

h

n

b) VAuxHALL 5§52
200
- fl Ee

100

= %4



